
Приложение 6. Окна 

Все окна заданы на промежутке 0,..., 1n N= −  (равны нулю вне этого 
промежутка). 

Номер 
окна 

Окно Формула 

1 Ханна 2( ) 0.5 1 cos
1

nw n
N
π  = −   −  

  

2 Хэмминга 
( ) 0.54 0.46cos

1
nw n

N
π2 = −  − 

  

3 Блэкмана 2( ) 0.42 0.5cos
1

40.8cos
1

w n n
N

n
N

π

π

 = − + − 
 +  − 

 

4 Бартлетта 2 1, 0 ,
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2 12 , 1.
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5 Бохмана 2 2( ) 1 1 cos
1 1

1 2sin 1
1
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π

π
π

   = − − +  − −  
 

+ − − 

 

6 Рисса 22( ) 1 1
1
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 = − − − 
 

 


